o
[N

< o cot(y) >

<0 > (rad)
o
o [
[ [¢)]

....... A PR X B 8 R A R R 1t ) A

-3 -2 -1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_CKF_QCDHighPt_retrain
—— DQM_mkFit_QCDHighPt_retrain

100

< 00, > (M)
<od, > (um)

e I e e e

1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

QO[T T
N
|
=
o

O_lO‘O:IIII!IIII!IIIIiIII!””!”” 0_100: I
k= E ] ] 1 : ] B I e i B {1 R 11 A8 SEEE 1
R N L 1 T x© ;
: 1 h- - o
05;_ ---------- e -.‘ ----- (0] =aEEEECET R TEE B 138 5 4 4 ¥ 0K |} O GRS :- .......
3 -2 -1 0 T 2 3 g

<0 / > (Y
PP, > (Y0)
O = N W N O

3 2 -1 0 T2 3
TP n (PCA to beamline)



	Contents
	Page 1


